Sheet2

AEt NEE (FMEERHE CHVEIO——
AH-[ 22221 ] HRErH D — K EBERREHE. 01000~470000 A 22 BER

&kt LER (RF2FEEL

= e - AR
REIEINE] SHmERS & MER | mEmnE | melss | AREE
BRWEAD [l Gl 11,957 - = -
FAPN=] R =B 56 = = =
AEAAD % CHHERE = - =
4 ;3 CH I = - -
m 2 [k = = =
0 = w [CHm — - -
® 8,837 2,783 Z0HD 32 - - -
= 844 23] i Z D - -
= 3,809 46} ;ﬁ 12,842 — 679 T.675] q
# 19 0 = 7,969 563 339 567] [
5 = 60) of 0 0| of of
& 13,569] 2,852 of 0 0| 0| 0|
I3 0 0 o 0 o
£ S 192 145) 0 0] q
2 & 14 7 4, 360} 32 193 3,608
iy 897 T.50 o o —
= o 6,329 885, 532 4175
# 883} 78,286 aﬁ T211 5.&?]
2,120 1, 66 1,919 = = T,919]
B T5.68]  4.51 I o - _{ o — _| —
& 20205 885, 1211 7,769 0
A BB E LEFERBEDLSE
EEERLE | ERERLE | EABUE
1,674 56 257}
§ 0 E
CHEBHHE 0 0 g
q 518 3
[ 304] q
q 176 q
L H(BESH+ AR H+FREH+ERCHHERTH+ZOM) =16421t/F 0 12| 0]
FTEIRSE & (IR A+ EHEIRA T ) =20,205t/4F 0 319) 0]
Cae ikl GHEREE + REERE) =20476t/ 4 [l 17 o
CHMEE (BRI B + IS E -+ S0 O P RULE -+ EERURME ) = 20,205t/ 235] B 3
1A BHEYSHEHE (CHREHE/BAD) =965/ AR - o -
YA VR (R R S5+ E B E)/ (O A0 + K E EURE]) =39.27% - o -
RIS BB B (R R R MR B % BRI B MR LB R AN S B) = 11,225t/ 4F - 1,358 —
= o=
- o =
— o=
- o =
— o=
4 0 q
q 3,088 q
1,919 5,850 271




	Sheet2

